Exercises 6.3

2. (@ 107'=0.1 (b) 8 =512
4, (a 3*=81 (b) 83 =4
6. (@ e*=z+1 b) et=z-1
8. (a) log,;10000 = 4 (b) logg,9=13
10. (a) loggg =-1 (b) log,gn=m
12. (@ In05=z+1 (b) Int=0.5z
14. (a) log3=1 (b) log,1 =_log33° =0
() logg3? =2
16. (a) log,32=1log,2°=5 (b) logg87 =17
(c) loggl =logs6’ =0
18. (a) logs125=log,5° =3 (b) log,,7 =log, 49'/% = }
(c) logg\/_?; = log,3'/? = log, (91/2)1/2 = log,9'/4 = 1
20. (@) e =m (b) 108° =5

(c) 10887 =87

22. (@) log,v/2 = log,2"/2 = log, (4/2)"* = log,4/4 = |

' (b) log,(}) =log,27! = log4(41/2)-1 =log, 472 = —1
() log,8= =log,23 =log, (4‘/2)3 = log,4%? =3 _

24. (a) loggz=4 & z= 5% = 625 (b) z=1log, (0.1) =log,, 107! = ~1

26. (2) log,1000=3 < 2®=1000 < z=10
(b) log25=2 & a?=25 & z=5

& ?7=6 & =236

e =3 & z=27

28. (a) log 6=
(b) log 3=

L= o=



